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1. Which type of operating system reads and reacts in terms of actual time? -,
(A) Time sharing OS (B) Multiprocessor OS
(C) Real time OS (D) Quick sharing OS

2. Which among the following is an example for a spooled device?
(A) A line printer that prints the output of a number of jobs
(B) A terminal that inputs user data
(C) An input output device to display graphics

(D) An output device which prints user data

3. To access the services of the operating system, which among the following
provides an interface?

(A) API (B) Assembly instructions
(C) System calls (D) OS services

4. Segment replacement algorithms are more complex than page replacement
algorithms because?

(A) Segments are better than pages

(B) Segments have variable sizes

(C) Segments have fixed sizes

(D) Segments are not better than pages

5. The entry of all PCB’s of the current processes is available in
(A) Program counter (B) Process register
(C) Process table (D) Process unit

6. Which of the following option leads to the portability and security of JAVA?
(A) Byte code is executed by JVM
(B) The applet makes the JAVA code secured and portable
(C) Use of Exception handling
(D) Dynamic binding between objects
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7. InJAVA, the string is a
(A) Combination of Boolean (B) Abstract data type
(C) Primitive data type (D) None of the above

8. Which of the following is not a JAVA feature?
(A) Dynamic (B) Architecture neutral
(C) Use of Pointers (D) Object Oriented

9. Which of the following is used to find and fix bugs in JAVA program?
(A) JVM (B) JDK

(C) JRE (D) JDB

10. An expression involving byte, int, and literal numbers is promoted to which

of these types?
(A) Int (B) Long
(C) Byte (D) Float

11. Data structure accommodates
(A) Data in primary memory
-(B) Data in secondary memory
(C) Data and their relationships in primary memory

(D) Data and their relationships in secondary memory

12. Data which could be operated upon by a machine level instruction is called
(A) Lineardata (B) Non primitive data
(C) Primitive data (D) Linkedlist
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13.

14.

15.

16.

17.

18.

If A[3..8][5..10] is a two dimensional array represented in column major
accessing with base address 1000word size 4 bytes, then the element A[6][7]
has the physical address

(A) 1013 (B) 1015
(C) 0060 (D) 1060

Which of the following is a non-linear data structure?
(A) Array (B) Stack
(C) “Tree (D) Queue

The post order sequence of the binary tree having DBAECFG and BDCEFAG
respectively as its preorder and inorder sequences is

(A) BCFEGAD (B) DBAGEFC
(C) FCEGABD (D) GAFECDB

What is computer organization?

(A) Structure and behavior of a computer system as observed by the user
(B) Structure of a computer system as observed by the developer

(C) Structure and behavior of a computer system as observed by the developer
(D) All ofthe mentioned

What does CSA stand for?
(A) Computer Service Architecture (B) Computer Speed Addition
(C) Carry Save Addition (D) None of the mentioned

To reduce the memory access time, we generally make use of
(A) SDRAMs (B) Heaps
(C) Caches (D) Higher capacity RAMs

MA-9045 [4]




19. Both the CISC and RISC architectures have been developed to reduce the
(A) Time delay (B) Semantic gap
(C) Cost (D) All of the mentioned
20. In order to read multiple bytes of a row at the same time. we make use of
(A) Memory extension (B) Cache
(C) Shiftregister (D) Latch
21. Which of the following is used to hold running program instructions?
(A) Primary Storage (B) Virtual Storage
(C) Internal Storage (D) Minor Devices
22. The ALU gives the output of the operations and the output is stored in the
(A) Memory Devices ' (B) Registers
(C) Flags (D) Output Unit
23. The process of division on memory spaces is called
(A) Paging (B) Segmentation
(C) Bifurcation (D) Dynamic Division
24. is the raw material used as input and is the
processed data obtained as output of data processing.
(A) Data, Information (B) Instruction, Program
(C) Data, Program (D) Program, Code
25. What does MAR stand for?
(A) Main Address Register (B) Memory Access Register
(C) Main Accessible Register (D) Memory Address Register
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26. What is name of Transport Layer Protocol which is used to support the

electronic mail?
(A) SMTP (B) 1P
(€): 'BEP (D) LBP

27. The Address Resolution Protocol is used for
(A) Finding IP address corresponding to MAC Address
- (B) Finding MAC Address corresponding to IP address
(C) Find IP address of default Gateway
(D) Find IP address from DNS

28. How many networks can be allowed in Class C under [PV4?
(A) 2014 B) 2217
(E) 221 (D) 2724

29. What does POP stand for? :
(A) Pre Office Protocol (B) Post Office Protocol
(C) Protocol of Post (D) None

30. Identify the first network which was based on TCP/IP protocol.
(A) ARPANET (B) HUB
(C) Ethernet Card (D) Router

31. Which of the following is not a property of an object?
(A) Properties (B) Names
(C) Identity (D) Attributes

32. Memory for objects is allocated in -
(A) Cache (B) ROM
(C) HDD (D) RAM
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33:

34.

38,

36.

3

'Object being passed to a copy constructor

(A) Must not be mentioned in parameter list
(B) Must be passed with integer type

(C) Must be passed by value

(D) Must be passed by reference

Which feature in OOP is used to allocate additional functions to a predefined
operator in any language?

(A) Function Overloading (B) Function Overriding
(C) Operator Overloading (D) Operator Overriding

Which of the following best defines a class?

(A) Parent of an object (B) Instance of an object
(C) Blueprint of an object (D) Scope of an object
Which of the following operation is illegal in structures?

(A) Typecasting of structure.

(B) Pointer to a variable of the same structure.
(C) Dynamic allocation of memory for structure.
(D) All of the mentioned.

What would be the size of the following union declaration? (Assuming size of
double = 8, size of int = 4, size of char = 1)
# include <stdio.h>
union aTemp
{
double a;
int b;
char c;
}a;
A) 4 ®B) 8
© 1 (D) 10
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38. Which of the following require structure datatype?
(A) Array of structures. (B) Linked Lists.
(C) Binary Tree. (D) All of the mentioned.

39. What is the value of an array element which is not initialized?
(A) By default Zero 0 B) 1
(C) Depends on Storage Class (D) None of the above

40. What is the output of the following C program?
#include <stdio.h>
void main()
{
inta[];
a[4] = {1,2,3,4};
printf(“%d”, a[0]);

}
(A) Compiler error B) 1
© 2 D) 4

41. Binary number equivalent to 645, is
(A) 011001000101 (B) 1011101001
(C) 110100101 (D) 10101110111

42. Octal number equivalent to ACAT o is

(A) 530431 (B) 126107

(C) 121447 (D) 126147
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43.

44.

45.

46.

47.

The 2’s complement of 69 is
(A) 1111011 (B) 0111100

(C) 1100101 (D) 0111011
Floating point representation is used for
(A) Integer (B) Real numbers

(C) Pointers (D) Array’s address

The sum of (110111) and (011011) is

(A) 001011 (B) 010101

(C) 001110 (D) 010010

How many times will the following loop execute?
for(j=1;j<=10; j=j-1)
(A) forever (B) never

©) 0 D) 1

The size of () operator is used to find the

(A) The size of a variable in terms of bits

(B) The size of a variable in terms of megabytes
(C) The size of the data type in terms of bytes

(D) The size of the data type in terms of megabytes
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48.

49.

50.

Select the correct statement from the following about arrays.

(A) Ifnumber of values in the initializer list for an array is greater in size, compiler
raises an error

(B) There is a bound checking mechanism inbuilt in compilers for arrays
(C) Array elements can be initialized selectively

(D) Ifthe size is omitted during the declaration of an array compiler will not
supply the values

What is the function of strstr( )?

(A) To compare one string with another string in a program

(B) To find position of the string in a program

(C) To find position of occurrence of one string in another string

(D) To find length of occurrence of one string in another string

What is the result after the execution of the following code, ifa =10, b=5, c=10?
if ((a>b) &&(a<c))

a=a+l;
else

c=c+1;
(A) a=10,c=10 B) a=11,c=10
(C) a=10,c=11 (D) a=11,c=11
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Note : English version of the instructions is printed on the front cover of this booklet.




